COMBINATION OF FUNCTIONS - review

1.

What is the domain of f — g where f(x) = Vx + 1 and
glx) = 2log[—(x+ 1)
2.

3

a) Iff(x) = ﬁand glx) = ﬁ, what is f + g?
b) What is the domain of f + g?
) Wharis (£ + g)(8)?

Describe or give an example of

a) two odd functions whose sum is an even function

b) two functions whose sum represents a vertical stretch applied
to one of the functions

¢) two rational functions whose difference is a constant function

4.

5

Let f(x) = x* — nx + Sand g(x) = mx® + x — 3.The funcrions
are combined to form the new function #(x) = f(x) + g(x). Points
(1,3) and (—2, 18) satisfy the new function. Determine the values
of m and ».

IFf(x) = V1 + xand g(x) = V1 — x, determine the domain of

y=(fxXg(x).

6

7

Is the following statement true or false? “If f(x) > g(x) is an odd
function, then both f(x) and g(x) are odd functions.” Justify your answer.

flx) = &% g(x) = log(x) | State the domain of f+ g
8.

. Given f= {(0,1),(1,2), (2,5),(3,10)} and

g=1(2,0),(3,1), (4,2), (5 3), (6, 4)}, determine the following
values.

a) (g°f) (2) d (f2)(0)

9.

by (Fef)(1) e (£eofh(2)
Use the graphs of fand ¢ to evaluate each expression.
) flz(2) 9 (ge2)(=2)
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10.

For each graph shown below, state the solution to each of the

following:
) flx) = g(x) 9 [flx) = glx)
i)

1)1&
i

11.
Find the number of solutions of the following by showing sketches

i
cos x = x, when x= |:0, E}

a)
sin (277x) = —4x? + lox — 12,0 =x=5

b)

12.
Give an example of two functions, fand g such that f(x) > g(x)
| when x = [—4, —2]orxe[l, ).

13.

Give an example of two functions, fand g such that f(x) = 0 when
x=[—5,5]and f(x) = g(x) when x=[—4, 5].

14. For f(x)=—4x+5 on domain of [-2,12]
g(x) =—x*+8x on domain of [—5,10]

a. Find the ranges of f(x) and g(x) on the

provided domains
b. Find domain of (f —g)(x)

Find domain of ( f <+ g)(x)
d. Find domain and range of (f o g)(x)
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